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1 T3l 5 a2 4230 y'+4y=0 2 ji# ? (A) y=sin(2x) (B) y=cos(x) (C)
y=sin(x) (D)y=¢e*

2. #y=0 > Bl T 7 & ¥ & # (Separable) i~ > 20y =y Ze™X 2 i % (General

X1k 1

solution) ? (A)y=e*+k(B)y= e Cy=

” (D)y = 2ke™* +x

3. T Al K s - FEAEE A S 22 (A) Y +xy=1(B) Y +y* =0 (C)y?+y=0
(D)y +Xy=X o
4. Feile s > 425 Y +y=sin(x) » Bt pics & #22 ff 4 F]+ (Integrating factor) 5 # ?

(A)e* (B)x (C)sin(x) (D)eS"X) -
5. 7 s @ & 3 & & (Bxact) M A 3 A2 2 (A) 2xy+2x+(x+3y%)y =0
(B)2x+(x+y?)y' =0 (C)dxy+2x+(2x*+3y?)y'=0 (D)2x° +y+(2x+Yy)y' =0 -

6. — - P A S ARy +2y +6y =02 2 5 (A)y =e 2X[C cos(v/BxX) + Cpsin(v/5x)] (B)
y = e X[C; c0s(+/5%) + Cy sin(+/5x)] (C) y = e 2X[C, cos(5x) + C, Sin(5x)]

(D) y = C;cos(5x) + Cosin(bx) o

7. 1263 2 pox 3 (Laplace transform) = #= ? (A) (B) ©

(—3)2 (s- )3 (2)

(D) °
(s— 3)3
8. m F # < & 4 (Inverse Laplace transform) 5 i 2 (A) 4e~2t —4e™3
+2)(s+
B)e 2 _4e 3t (C)ae2_e 3 (D)e2t_g 3.
0 for t<3
9. ——Ex:@:f(t):{t °fr0r><3 » |l @dc® o Heaviside & Bc(H(D))% 7 & 2 (A)

(t-3)H(t-3) (B)tH(t-3)(C)tH(t) (D)(t-3)H(t) -
10, F AimxnzEL B 3 pxqa4EL BlE AB &5 @& R Evi— ifit ?
(AAm=pB)m=q(C)n=p(D)n=q
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